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Note :– This paper is of Thirty five (35) marks divided into

two (02) sections ‘A’ and ‘B’. Attempt the

questions contained in these sections according to

the detailed instructions given therein. Candidate s

s h ould lim it th e ir answ ers to th e qu e stions on

th e given answ er s h e et. No additional (B) answ er

s h e et w ill be is su ed.

  (35)  (02)

          





       


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Section–A

–

Long Answ er Type Questions

 2×9½=19

Note :– Section ‘A’ contains Five (05) Long-answer type

questions of Nine and Half (9½) marks each.

Learners are required to answer any tw o (02)

questions only.

 (05) 

(9½)

(02) 

1. What are sequence rules ? How are these used for

assigning R and S Configuration ? Discuss with suitable

examples.

         R  S

         



2. How is Buta 1,3-diene prepared ? Why is it more stable

than non-conjugated dienes ? Explain the formation of

1,2 and 1,4 addition product when buta 1,3- diene react

with hydrobromic acid.
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1, 3-

1, 3-

1, 21, 4

 

3. What are aromatic compounds ? Discuss the mechenism

of any tw o of the following reactions.

(a) Fridel Craft reaction

(b) Nitration

(c) Birch reduction





(a) 

(b) 

(c)  

4. Write short note on the following :

(a) Walden inversion

(b) Chlorination of toluene in presence of sunlight

(c) BHC



(a)  

(b)  

(c) 
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5. Explain any tw o of the following with suitable

examples :

(a) Boat and chair conformation of cyclohexane

(b) Hyperconjugation

(c) Hydrogen bonding and types of hydrogen bonding

 

(a) 

(b) 

(c) 

Section–B

–

Sh ort Answ er Type Questions

 4×4=16

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Four (04) marks each. Learners are

required to answer any four (04) questions only.

 (08) 

(04)

(04) 

1. Discuss the factors which affects SN1 and SN2 reactions.

SN1SN2


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2. Explain ozonolysis with suitable examples.



3. Explain why CH2 = CH—CH2—Cl is more easily

hydrolyzed than CH3—CH2—CH2—Cl ?

CH3—CH2—CH2—Cl    CH2 = CH—

CH2—Cl 

4. Write short notes on the following with suitable

examples :

(a) Markonikov’s rule

(b) Diel’s Alder reaction

       

 

  

 

5. Explain the following :

(a) Enantiomers and diastereomers

(b) Racemic mixture



  

 
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6. Ethylene is more reactive than acetylene towards

electrophilic addition reaction explain why ?





7. Write short notes on any tw o of the following :

(a) Carbocation

(b) Carbenes

(c) Free radicals

 

 

 

8. Explain the mechanism of Corey House reaction of

alkane.



**************


